Thig question paper contains 26 printed pages]
| HPAS (Main)—2916
COMMERCE AND.ACCOUNTANCY
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Note :— All questions carry equal marks. Question number
1 1s compulsory. Attempt any four gquestions from
2 to 8. .
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1. Thé process of auditiné encompasses internal check and
internal control along with.other vital audit processes to
bring fair and transparent position of the organization
under audit. Cdﬁ@ly analyse the audit process and
highlight the shallowness of audit reports of the companies

which failed miserably in India in last one decade.

oEn gaevr = ufemar §, S afen &% st Sewe
#1 frEr o urEfefar @ % ferw s emAvaE

S ThEel ¥ Wiy siaReE wie weaer st st
: i P.T.O.



( 2 ) Comm. & Acco.-1
Mmtnmwmmmﬁ%ﬁawf’
a2 weatrEl = S uiien wfadss w1 A . T

H e vmm o faes um =9eh 8 STEwe | ¥

On 1st Jan., 2017, five cars are sold by Y to X costing
Z 1.50.000 each. Down payment is ¥ 50,000 per car. Interest
charged by Y is 20% p.a. X depreciates cars @ 10% p.a.
using SLLM method. Four instalments of ¥ 1,25.000 each
(exclusive of interest) are to be paid at the end of each

yvear. Prepare necessary accounts in the books of X and

Y in the following cases :

(1) On the failure of payvment of second instalment by
X, Y took possession of all the five cars. Y, after

apending T 50,000 on repairs sold them for T 90,000

each.

(2) On the failure of payment of second instalment by
X, Y took possession of only two cars at an agreed
value of ¥ 2,20.500. Goods repossessed were ’aold

by Y for T 2,25,000 after incurring ¥ 10,000.
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The following is the Trial Balance of a trader as on 315 i

March, 2017 :

Particulars Dr'._ (?) Cr. ()
Cash in Hand 5,000 —
Laqd and Building 80,000 —
Plant and Machinery 50,000 —
Debtors & Creditors 25,000 40,000
Stock on 1-4-2016 1(_).600 | | — .
15% Investment on 1-4-2016 20,000 - -
Purche:lsea. and Sales 95,000 | 1,90,000
Ba;nk Overd'raf; L — 20,000
Wages | 28,000 | —_—
Salaries . 16..000 =
Rent, Rates and Taxes 15,000 -
Bad Debts 6,000 —

-
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Drawings 5.000 —
Bills Receivable & Bills Payable | 15,000 21,000
Carriage Inwards 6,000 —
Custom Dpty on Purchases 16,000 -
Life Insurance Premium 4,000 -
Advertisement 30,000 —
Provision for Doubtful Debt — 2,000
Interest on InvesMeﬁt — 2.900
Sundry Expenses 11,000 -
Furnitt‘xre .20.0100_ . -
Sales Tax P;ay'ablé — 25,000
Capital — | 1,67,000

4,557,000 4,57,000

Additional information :

(1) Stock on 31-3-2017 was valued at ¥ 40,000.

P.T.O.
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(2) Included in debtors are T 8,000 due from Ram and

included in creditors are ¥ 6,000 due to Ram.

(3) Bills receivables include a bill of T 5,000 received

from Varun, which has been dishonoured._

(1) Sales include T 5,000 for the goods sold on approval
basis. Goods are sold at 'a profit of 25% on cost.

Approval was not received upto 31-3-2017.

(5) Wages include T 5,000 spent on the erection of

machinery.

(6) Create a provision for boubtful debts at 5% on debtors.

(4D Prepaid rates and taxes amounted to .! 2,000.
(8 Depreciate machinery by 10%.

(£2)) Advertisement includes T 20,000 spent at the time
of launching a new product. It is policy of the

business to write off such expenses in 5 years.

Prepare Trading and Profit and Loss Account for the vear

ended 315 March, 2017 and a Balance Sheet on that

date.
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ABC Litd. is a manufacturer of medicines and the president
of the company is considering the co'mpany'e ordering,
inventory and billing procedures. He estimates that the
annual savings from computerization include a reduction
of ten clerical eimployees with annual salaries of ¥ 15,000
each, T 8,000 from reduced production delays caused by
raw materials inventory problems, ¥ 12,000 from lost sales
due to inventory stock outs and ¥ 3,000 associated with

timely bﬂ.hng procedures. The purchase price of the system
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is ¥ 2,00,000 and installation costs are ¥ 50,000. These
outlays will be capitalized (depreciated) on a straight line
Baais to a zero book salvage value which is also ité market
value at t.hé end of five years. Operation of the new system
requires two computer specialists with 'annual salaries
of ¥ 40,000 per person. Also annual maintenance and
operating (cash) expenses of ¥ 12,000 are estimated to .
be required. The company’s tax rate is 30% and its required
rate of return (cost of ca-pital) for the project is 12%. You

are required to :
(@ ' Find the project's different cash flows.

(b) Evaluate the prgject using NPV method, PI method

and Payback period method.

((5) Find the project's cash flows and NPV assuming
that the system can be sold for ¥ 25,000 at the
end of five years even though the book salvage value

will'be_ zero and that capital gain is subject to tax.
P.T.0.
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(cd) Find the project’'s cash flows and NPV assuming
that the book salvage value for depreciation purposes
15 T 20,000 even though the machine is worthless
in terms of its resale value, and that such loss of

T 20,000 (book value) is allowed for tax purposes.
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In a factory, the standard units of production for the yvear
2017 were fixed at 2,00,000 units and overhead expenditures

were estimated to be :

4
Fixed : 1,20,000
Variable - 60,000
Semi-variable 18,000

Actual production during August of the year 2017 was
15,000 units. Each month has 20 working days. During
_this month, there was one gazetted holiday. The actual

overheads amounted to :

T
' Fixed ' - ' 11,900
Variable 4,800

Semi-variable 1,920

Semi-variable charges are considered to include 60 per

cent expenses of fixed nature and 40 per cent of variable

character.
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Find out Total Overhead Cost Variance, Variable Overhead

Cost Variance, Fixed Overhead Cost Variance, Fixed
Overhead Expenditure Variance, Volume Variance, and

Calendar Variance.
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Mr. X who is 35 years old and employed in M/s ABC
Ltd., ha_s the following details relating to his income and

investment during financial year 2016-17 :

Basic pay - T 2,70,000

DA : ' Z 9,000 PM

Educatioh allowance T 200 pm for two
sons and T 150 pm for daughter)

Transport allowance T 19,200

Free car (1150 cc) for official and

private purpose cost to company T 27,000
Contribution by Mr. X to SPF T 17,000
Free meal in office (300 working days) T 12,700

Amount deposited in PPF account - T 42,000
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LIC premium paid T . 10,000
Medical insurance premium paid for self T 16,000
Interest received from saving bank account T 12,000

He has the following information in respect of his property
for finanical yvear 2016-17 :

Rent received T 16,000 pm
Muﬁicipal value = - ¥ 1,60,000
- Municipal taxes paid Y T 13.000
Expenditure on repair | ; T 15,000
Insurance charges paid for building 4 6;000
Ground rent paid | T 2,000

Interest paid against loan taken to purchase
above Property ; T 20,000
House remain vacant for one month.

He purchased a residential house on 05.06.2012 for
T 20,00,000. He sold the same house on 15.7.2016 for
T 30,00,000. Calculate the capital gain. Cost inflation index
‘for F.Y. 2012-13 is 852 and for F.Y. 2016-17 is 1125.

Computé the income tax liability for Mr. X for assessment

vear 2017-18.
. - P ek D X
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Determine the weighted average cost of capital using (i)
b’ook_value weights and (i7) market value weights-based

on the following information : 20

Book Value Structure :

Debentures (X 100 per det;entixre) Z 8.,00,000
Preference Shares (T 100 per share) 2.00,000
Equity Shares (¥ 10 per share) 10,00,000

Recent market prices of all of these securities are :
Debentures : ¥ 110 per debenture; Preference Share :

¥ 120 per share and Equity share : ¥ 22 per share.
External financing opportunities are :

(a) Z 100 per debenture redeemable at par, 10 year’s
maturity, 13% coupon rate, 4% floatation cost and

sale price ¥ 100.
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(b) T 100 Preference share redeemable at par, 10 yeai's'
maturity, 14% dividend rate, 5% floatation costs

and sale price ¥ 100 and

(¢) Equity share : ¥ 2 per share floatation costs and

sale price ¥ 12.

Dividend expected on equity shares at the end of the year
is ¥ 2 per share; anticipated growth in dividends is 7%.
Company pays all its earnings in the form of dividends.

Corporate Tax Rate 1s 30%:

frfeafima sitEs] & STER 92 () 9% Jed YR (HE)
ai\’((ii)m'l{@ﬁlt (HEes) w1 WA HIA FY G
% wifta shaa gea &1 Fuio wieg

fed=x (moaa) (2 100 ufa fed=w) |z 8.00,000

asftaar 9@ (T 100 wfa ) 12,00,000

= ('grqgfsa) 97 (@ 10 wfa =) | 10,00,000

P.T.0).
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MRI Ltd. is currentlj operating at 75 per cent of its
cap;néity. In the past‘: two years, the level of operations
were 55 per cent and 656 per cent respectively. Presently,
the production is 75,000 units. The company is planning

for 85 per cent capacity level during 2018-19. The cost

details are as follows :

bb% 65% TH6%
T T 4
Direct Materials 16,50,000 | 19,560,000 | 22,50,000

Direct L.abour 8,25,000 9.75,000 11.25,000

Factory Overheads 4,65,000 4,95,000 5,256,000

Selling Overheads | 4,80,000 | 5,40,000 | 6,00,000
Administrative
Overheads 2,410,000 2,400,000 | 2,40,000

36.60,000 | 42,00,000 | 47.40,000

Profit is estimated @ 20% on sales.

B L0
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The following increases in costs are expected during the

year : ' =

In percentages

Direct Materials | | 8
Direct Labour _ . A 5
Variable Factory Overheads 53
Variable Selling Ove}-heads o ) 8
Fixeci Factory Overheads | | 10
Fixed Selling Overheads ‘ 15
Administrative O§erheads | . 10

Prepare flexible budget for the period 2017-18 at 85 per

cent of capacity. Also ascertain profit and contribution.

20
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55% 65% 75%
2 T 2

weIe Hgrd 16,50,000 | 19,50,000 | 22,50,000
gega T 8.,25,000 | 9,75,000 | 11,25,000
Tl sEtes 4,65,000 | 4,95,000 | 5,25.000
fawma saEs 4,80,000 | 5.40,000 | 6,00,000
gymEfis ai‘ra'«:%s 2,40,000 | 2,40,000 | 2,40,000

36,60,000 | 42,00,000 | 47,40,000
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